Pixel 60 ADC Spectrum (pedestal subtracted)

104

10°

10?

10

[N
IIII|

N
o

0 20 40 60 80 100 120 140
[adc counts]

Pixel 59 ADC Spectrum (pedestal subtracted)
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Pixel 58 ADC Spectrum (pedestal subtracted)
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Pixel 57 ADC Spectrum (pedestal subtracted)
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Pixel 52 ADC Spectrum (pedestal subtracted)
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Pixel 51 ADC Spectrum (pedestal subtracted)
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Pixel 50 ADC Spectrum (pedestal subtracted)
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Pixel 49 ADC Spectrum (pedestal subtracted)
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Sum of 8 Maroc Channels (adcPedSub)
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fADC Integral Distribution (with pedestal subtraction)
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